[ normalized x? probability |

107t —————————{Enwes
Mean
Std Dev

715
0.1397
0.2629

1072 "8

107

10

107

o102
3
x 1%
1
0.
0
X2
m=s== DQM_CKF_XiMinusNOPU_base
== DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epoch0
5
A E = E
s F £ CF [URTTE T
c E- A AR 3 i
I F o F N
> . = 3 a !
v E - 2 4
E- o 2E s k
E v . L
E oF- RAHE i
: - -
E -2F- -
» -3F- -
E —4F- 2
o 0sf o 5F
T T
o o
A A
k=] B
c c
- -
o o
< >
\ \
8 5=
T T
@ o
107 102 107
AR(track, jet,
= 5F
5 E :
P! ERR IR | B B
o of
= SE
e E H
NI EEE | AR | B PR
v E b
S LR 1 B
E 41
oF .....}#
- T4
I M3
“2f-- 1]
_3:_.......... .
_4:—........: fe--
cE i
8 7 B
g 2p ]
o
j| SRR -




	Contents
	Page 1


